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The figures in the margin indicate full marks.

Group - A

1. Answer enyten questions:

(a) What is meant by economic holding?

(b) Mention two causes of subdivision of agricultural holding in India.

(c) Mention two disadvantages of agricultural mechanisation in India.

(d) What are the fuII forms of FERA and FEMA?

(e) What is meant by Exit policy?

(f) What is meant by disinvestment?

(g) Mention two importances of small scale and cottage industry.

(h) What is meant by tied loan?
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(i) When was NABAITD established?

O Mention two obstacles of export promotion for the underdeveloped countries

(k) What do you mean by Balance of Payments (BOPX

tl) -V/haI )s meanlby m)nrmum support price?

(m) What do you mean by Foreign Portfolio Investment (FPD?

(n) Mention two important import items of India.

(o) llhat is meant by public sector?

Group - B
2. Answer any three questions : 5x3

(a) What are the causes of low productivity in Indian agriculture?

(b) What are the causes of low marketable surplus in India?

(c) What were the main features of India's Industrial Poiicy, 1991?

(d) What are the measures taken by the Government of India for the improvement of small scale and
cottage industries?

(e) What are the causes of adverse balance of payments in India?

Group - C
3. Ansu,er any three questions :

(a) What are the different sources of agricultural credit? Discuss the role of NABARD in facilitating
agricultural credit in India. 5+5

(b) Discuss the eff-ects of Green Revolution in lndia. 10

(c) What are the limitations of public sector in India? Do you think privatisation of public sector can

remove these limitations? 6+4

(d) Discuss the changes in volume and direction of India's fbreign trade after independence. 10

(e) What are the functions of World Trade Organisation (WTO)? What are the possible effects of
WTO on Indian economy? 5+5


